Exercice supplémentaire : calculs liés aux marchandises

1 2 3 4 7 8 9 10
Achats Marchandise 31 000 100 950 12 000 15 000 30 000 85 000 9 000
Frais d'achat 3000 5 50 500 1000 500 2000 500
RR Obtenus 4000 10 0 600 4000 1000 5000 1000
PRAMA 30 000 95 1000 11 900 12 000 29 500 82 000 8 500
Marge Brute 60 000 295 0 13100 12 000 22 500 38 000 10 500
Ventes Marchandise 106 000 | Impossible. 1050 28 000 25 000 54 000 130 000 20 000

il manque

RR Accordés 16 000 trop d'info 50 3000 1000 2000 10 000 1000
Chiffre d'affaires net 90 000 390 1 000 25 000 24 000 52 000 120 000 19 000
Taux de Marge Brute 66.667% 75.641% 0.000% 52.400% 50.000% 43.269% 31.667% 55.263%
Charges d'exploitation 15 000 40 100 6 000 6 000 14 000 60 000 900
Produits d'exploitation 20 000 20 200 5000 0 1000 10 000 1000
Résultat net 65 000 275 100 12100 6 000 9 500 -12 000 10 600
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